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QUESTION 1

What are the benefits of a 3-Tier design over a 2-Tier? (Choose two.) 

A. Offloading processing from the Core without routing at the Access layer. 

B. Can use lower speed links between Core to Aggregation and Aggregation to Access given the use of an Aggregation
layer. 

C. Lowering the cost of a deployment due to needing less switches overall. 

D. Better scalability in a campus with a large number of buildings. 

E. Gaining the flexibility to connect the Data-Center to any Access layer switch. 

Correct Answer: AD 

 

QUESTION 2

HOTSPOT 

Review the exhibit. 

As the frame traverses from **PC-1** to **Server-1**, the VLAN tag will be removed. 

Click on the interface (circled in green) where the VLAN tag will be removed. 

Hot Area: 
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Correct Answer: 
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Port 1/1/4 on Access-2. 

 

QUESTION 3

What command will save your configuration on an Aruba AOS-CX switch so that your changes automatically load on
next reboot? 

A. copy running-config checkpoint startup-config 

B. copy startup-config running-config 

C. copy running-config initial-checkpoint 

D. copy running-config default 

Correct Answer: A 

 

QUESTION 4
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What is the binary conversion of the hexadecimal value 0x2001? 

A. 0010 0001 

B. 0002 0000 0000 0001 

C. 0011 0000 0000 0001 

D. 0010 0000 0000 0001 

Correct Answer: D 

 

QUESTION 5

What are two OSPF attributes within the hello messages that must match to successfully establish neighbor
relationships? (Choose two.) 

A. Router ID 

B. Priority 

C. Hello and Dead intervals 

D. Area ID 

E. Process ID 

Correct Answer: CD 
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